“ RIVAL

POWERSPORTS

UNIVERSAL SNOW BLADE INSTALLATION MANUAL

RIVAL UNIVERSAL SNOW BLADE
YHUBEPCAJ1bHbIN CHETOOTBAJ1 RIVAL

444.0165.1.B - black/4épHbi
444.0165.1.S - gray/cepsbin

WWW.RIVAL4X4.COM WWW.RIVALPOWERSPORTS.RU



<,
@%

EN
DE
RU

EN
DE
RU

EN
DE
RU

EN
DE
RU

EN
DE
RU

EN
DE
RU

EN
DE
RU

“ RIVAL

POWERSPORTS

Regular fasteners
Normale Befestigung
LUTaTHbLIA Kpenéx

Regular fasteners
Normale Befestigung
LLUTaTHbLIA Kpenéx

Screw a several turns
Mit wenigen Umdrehungen befestigen
BKpyTUTb Ha HECKOJZIbKO 060pOTOB

Loosen bolts
Bolzen lockern
BbIKpyTUTb HAa HECKOJIbKO 060pPOTOB

Movement Arrow
Bewegungsrichtung
ABvxeHue

Location / Position Arrow
Anordnung / Positionsrichtung
Pacnono)xeHue

Screw Arrow
Drehrichtung
MoBopoT



“ RIVAL

POWERSPORTS

Pama / Frame
444.0096.01

EN Ratchet S-7, S-17;
DE Ratsche S-10; S-36
RU Tpelyétka S-13;

/7

EN Slotted Screwdriwer
DE Schlitzschraubendreher
RU OTBépTKa Wnnlesas




“ RIVAL

POWERSPORTS

M8=24 Nm

v 14 @7§
AT i 7y




POWERSPORTS

“ RIVAL

PO

M4=2.9 Nm

11;16

16;21

16;21

11;16




POWERSPORTS




“ RIVAL

POWERSPORTS

Kosw / Bucket

444.0163.01 - 150 mm.
444.0163.02 - 137 mm.

EN Ratchet
DE Ratsche
RU Tpelétka

%

S -
S -

6;
8

x1

EX

16 17 I R T g,
210 x11 | @12 x4 | M8 x5 | M10 x11
22 23

@ x2 x4




“ RIVAL

POWERSPORTS




“ RIVAL

POWERSPORTS

|
23

23

22

LEFT = RIGHT

|

(Z

14;17

LEFT = RIGHT




[~ = £ E £
- = 5 & 3 WN : f\ 3y
i > o Il > i [
— & 1l P N i~
2 o Qe O3 %0 2 »\W\ A
V ; ! _ F=)
a. _,,, T A _ .
= |
w7 ! /.’ | m
1y = \\\Nzl.k(\c‘la.ﬂ.m'q\ =

LEFT = RIGHT




“ RIVAL

POWERSPORTS

YHuBepcanbHoe kpersieHme cHerooTBana / Universal snow blade mounting pad

444.0038.1

EN Ratchet
DE Ratsche S-13
RU Tpelyétka

x3 | M8x20 x4 | M8x35 X2
8] 9] 10 11 12 13 >
—0 = =0
M8x80 x8 | M10x35 x3 |26 x2 | 28 x4 |28 x8 210 x3
14 15 y 16] 17l oy
‘\—/
M8x65/15 x2 | M10x65/35,5 x1 | M10x105/35 x2 | M8 x8




“ RIVAL

POWERSPORTS

e
b B

YHuBepcanbHoe KpensieHue cHeroorBasia / Universal snow blade mounting pad

\ o\

12;17




“ RIVAL
POWERSPORTS

0-2/650-2

) N L

g‘ RM 50

O

—

1O |

O

O

O
O
\J\
O
_ . @O@&
L \ .
O
S P
YA/
Do U




“ RIVAL
POWERSPORTS

Arctic Cat
TRV 500/700/1000

— MUD PRO 700/1000

~

OOQ ]

CFMOTO
CFORCE 400/520L/X4 (2016-2021)

CFORCE 500 (2016-2022)

L




POWERSPORTS

“ RIVAL

CFMOTO
CFORCE 850/1000/X10 (2019-)
X8 HO (2018-)

S | ﬂ
o
o &
T
Gu .
m \m/]} OO\ O SEe m
(@
O(/
I8
COQ@%U
UO OWGMO
) o
(NSO
A

5% a1




CFMOTO
CFORCE 450/520 (2022-)

POWERSPORTS

“ RIVAL

h
CFMOTO

CFORCE 800/820
X8 (2013-2017)

(
o

\
4

9
OC
7
i
>,

l

OOOQ

flie%! = Sol s

DO
6%)
OO0
q
QQ
|

(005

-

12;17
/
1>
el 2
“— 1
12;17
/

&S =
<
©. ..
N
e &
- -
®. ..

-
[




“ RIVAL

POWERSPORTS

Honda
TRX 420/500

Honda

j\Rfil:forn TRX 680




“ RIVAL

POWERSPORTS
Kawasaki
KVF 750
—12
- [12;17
C gl
O O O
Polaris
Scrambler 1000
—12
L [12;17
I




“ RIVAL
POWERSPORTS

Polaris
Sportsman 850

Suzuki
KingQuad 750




“ RIVAL

POWERSPORTS

- . A0 0 O oLk

<> CJ
“.,,' ../ OOQ OOO
e O oo 00

O
Ol o | D

: @) P
O 0O O
050 O O

Yamaha
Grlzzly 350/450

/)

O
Q

i

Yamaha
Grizzly 550/700
Kodiak 700

ooooooo@\

@OO@OO @OO@D

O O

I




“ RIVAL

POWERSPORTS

1 Hisun 500H/700H
/ o/

Hisun Tactic 750

O
. _
‘P
1 alo
D) O
m WITHOUT RIVAL SKID PLATE \0© e o
. I S
O e T




“ RIVAL

POWERSPORTS

Hisun Tactic 750

N=—"

e\ W e
NAIR

m WITH RIVAL SKID PLATE

COBMECTHO C 3ALLMTOW RIVAL

| Hisun Tactic 1000




“ RIVAL
POWERSPORTS

Segway Snarler AT6L

Odes
Patchcross 650/800/1000

12

7,

B v




“ RIVAL
POWERSPORTS

Kymco MXU 700

Polaris
Sportsman 570




“ RIVAL
POWERSPORTS

CFMOTO
CFORCE 800/1000 (2024-)

TGB Blade 1000 (2023-)




“ RIVAL
POWERSPORTS

Hisun Tactic 1000 (2024-)

©

3




